Repair Parts
116.866.AB.1

Touch-free, programmable faucet with mixing valve and supply
stops, for Patient Care applications

CHICAGO
FAUCETS.

Geberit Group

Base Parts:

all
| | —KIT, AB HYTRONIC BONNET
| // 242.432.00.1
. SCREW, #6-32 X 1/4" | @| | KT, Ok SOLENOID VALVE
/ PHILLIPS RETAINING : L R
é’ (NOT SOLD SEPARATELY) | — ~— = — |
AN SOLENOID VALVE, DN7
= Al __.|/_24u.744.AB.1

~—0-RING #011

% | | 243.392.AB.1 |
L :% : & orING#010
= ~" 243.391.AB.1
It BODY VALVE =
| | (NOT SOLD SEPARATELY) = —SHUT-OFF SCREW
| | 240.753.00.1
P I

| ‘ﬁ? A '; —

|/ LorncHos  f —
| |/ 243.390.AB.1 /
I /
{ /_KIT, MIXER EXTERNAL L KIT, HANDLE MIXER
/ O-RING #138 242.844.AB.1 TRADITIONAL
\ | 243.393.AB.1 240.746.AB.1
IR L xiT, wiNDOw
243.264.21.1

B l

- |

\ e

| '}\_SUPPLYTUBE(QTYU | Q |
‘.\-_.—/

240.632.AB.1 | .
' ' |

™
|

l KIT, HARDWARE /J
' 240.745.00.1

HyTronic Traditional Spout
244.487.00.1

=1

2.2 GPM (8.3 L/min) Vandal Proof
Softflo Aerator
E12VPJKABCP

VANDAL PROOF KEY
3-024JKRCF

For Technical Assistance:
Phone: 800-TEC-TRUE (832-8783)
Email: techsupport.us@chicagofaucets.com

2100 South Clearwater Drive
Des Plaines, IL 60018
Phone: 847-803-5000

chicagofaucets.com



Repair Parts CHICAGO
116.866.AB.1 FAUCETS

Touch-free, programmable faucet with mixing valve and supply

stops, for Patient Care applications Geberit Group
Supply stop with Integral Check Valve
1013-CSTABCP
BRASS WASHER
250-027JKRBF ‘= FLANGE
749-016JKCP (QTY 1)
COMPRESSION FITTING
3/8 TUBE X 3/8 NPT
1022-007JKABRCF
/ -. ﬂ‘ UW
- :
- \.
. (NOT SOLD SEPARATELY)
AN
.- SLO-COMPRESSION STEAM
INTEGRAL CHECK CARTRIDGE
NUT, CAP 376-CXSTJKABNF
LOOSE KEY
1-246JKCP
BUTTON
1-144JKCP
HANDLE, TEE
INCLUDES SCREW
293-006JKRCF
Electronic Module Emergency Backup Power System Bank Installation Adapter Wire
242.433.00.1 243.290.00.1 242.340.00.1
BATTERY
BACK-UP
(NOT SOLD SEPARATELY)
BATTERY
CR-P2 6V
242.560.00.1 I!
For Tec h n | Ca| Ass | stance: 2100 South Clearwater Drive
. : Des Plaines, IL 60018

Email: techsupport.us@chicagofaucets.com chicagofaucets.com



Repair Parts CHICAGO
116.866.AB.1 FAUCETS

Touch-free, programmable faucet with mixing valve and supply .
stops, for Patient Care applications Geberit Group

Thermostatic Mixing Valve
131-LCFMJKABRCF

HEX SCREW, M4X0.7X10MM—__ "~~~
(NOT SOLD SEPARATELY]A\i |
SCREW, M4X0.7X30MM | -
(NOT SOLD SEPARATELY)
KIT, TEMPERATURE CONTROL :
131-002KJKNF %

SCREW, M4X0.7 X 16MM

(NOT SOLD SEPARATELY)

KIT, BONNET
131 -OOSKJKNFK

I M 131-003JKNF
KIT, CARTRIDGE : ) KNOB LOCATOR
& KNOB LOCATOR_\ : (NOT SOLD SEPARATELY)
131-XFMJKNF

131-006 KJKRCF

IT BYPASS CONNECTOR, 3/8 COMP ! |

VALVE BODY
(NOT SOLD SEPARATELY)

SPACER

COMPRESSION NUT, 3/8 TUBE (NOT SOLD
(NOT SOLD SEPARATELY) SEPARATELY)
NOT S';EL'ERéJéfA;’iTTEUL?‘,E L BYPASS CONNECTOR, 3/8 COMP
( ) 131-007KJKRCF

FOT Tec h n | Ca| ASS | stance: 2100 South Clearwater Drive
: Des Plaines, IL 60018

Phone: 800-TEC-TRUE (832-8783) Phone: 847-803-5000
Email: techsupport.us@chicagofaucets.com chicagofaucets.com



